NAME V\J A~ DATE PERIOD ____
Skills <{’ractice

Proving Segment Relationships

Justify each statement with a property of equality, a property of congruence, or a
postulate.

LE@A=QA R Cloulve gdb[zb( thé/

2.IfAB = BC and BC = CE, then AB = CE.
T ronsitive ?VO@U ‘/&é(
3. If @ is between P and R, then PR = PQ + QR.
Seqimer vt Addtton Postulade
4.IfAB + BC = EF + FG and AB + BC = AC, then EF + FG = AC.
Subsktution

Complete each proof.

5. Given: SU = LR S T U
TU = LN e
Prove: ST = NR L N B
Proof:
Statements Reasons
a.50 = IR, TU = IN a. Civen
‘b, Sv = (R T =N b. Definition of = segments
¢.SU = ST + TU e Segou kDot itien foctulede.
LR = LN + NR
d.ST + TU = LN + NR d. Qubstidybien

SubSdi wHuA

e. ST+ LN = LN + NR e.
£f. ST+ LN — LN =LN + NR — LN £ Subtrction \?(’QQ_Q(-.LQ
g. ST = NA g. Substitution Property‘ &
h.ST = NR h

. T\gé-\/\\*f&u\ of (a-’\L)tu@V\tT SQKJWVLJ'S

6. Given: AB = CD
Prove: CD = AB

Proof:
Statements Reasons
- —
a AR = P a. Given
b.AB = CD b. Dalinvtton of o Q{G W‘Q,,/\,(‘S
Cc. CB =AB~\ c. SUMmmgfcre ’Pf‘o@ei“l/(_&),
d e = AR d. Definition of = segments
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DATE PERIOD

Practice

Complete the following proof.
1. Given: AB = DE

Proving Segment Relationships

A B C
B is the midpoint of AC. e
E is the midpoint of DF. ./'E/T:
Prove: BC = EF =
Proof:
| Statements Reasons
3; a. /X& = 1\? a. Given

B IS th V'/l.d'pd;‘/u* of ,/J-(Z

E s +uy vmddom'wf' of DF

b.AB = DE
AR ~ B¢

C.

N s
b. ToCinibron 6§ = Qopupie\PS
. Definition of Midpoint

DeE = eF

d.AC =AB + BC
DF = DE + EF

d. Sogmentt  Pddirion fo stilenle
J

Sub s#itu ften PFQ[)JQ[%\

e.AB + BC = DE + EF e
3 t ‘ \J
f. AB + BC = AB + EF £ Sopsirvn  (repoy
g.AB + BC —AB =AB + EF — AB g. Subtraction Property S
h.BC = EF h Substii wors QDps pordet
) [ f =
i' RC— = E F i- DQ’PU '/\/'\ J/'OV\ O‘/P % Sec\’:i }/WL+S
2. TRAVEL Refer to the figure. DeAnne knows that the Grayson  Apex Redding Pine Bluff
distance from Grayson to Apex is the same as the distance & A R P
from Redding to Pine Bluff. Prove that the distance from _— —
Grayson to Redding is equal to the distance from Apex to Pine Bluff. G wenn - GA 'g P
Stake mend-s Moo s ove - R = AP
L. CA = AP L Gypaan
=z éA - ﬂ_@ 2. DQQQ AHon of = S—eﬂ W"A’\'S
| - AR . Addy bron Preperic
| 3. CArAR =ARTRE |3 g
| € 4 S’ﬁJ Mo Adal i+ten POS do lose
i i \ = + l '
H GR= CArAR , MAE B
0 S SubstibuHon Froperty
Siw df 2 . E
B b. Dufentton oF = segrents
L. Ge = AP
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